& Caution: Aerator spike points are sharp. Exercise caution during handling
and alwayswear safety gloves. Never allow children to handle theaerator.

8/

(x2) (x9)

(x2) -
L Bracket

e

Angle Bracket
X2

(|'© (- ®x14

N\ (M8x20)
1 []] ©x

(MA8x15)
] @x1
[ 9x

( j) @XZ

(M5x40)
[ X2
(:(:@) (Mo10x35)

/(7 X2

G:@ (%x%)

| H9x:

Plain Washer 16)

/ o,

@ M10x55

A Tighten all th
of steps above

€ M10x35 e screws

A Do not tighten yet

|
NNy

2 N
‘:\4\’ ‘
y

® MA8x15 =

Bl -
)

N VAR i P Sy D (
Nt N W ] = \ Wby K\ \\ ‘A,“ \
L\ \ J‘\‘ ‘!}) \ ,_‘./\ \ i ‘J'\‘\ < N\ ¥at > v v""-“\ q"i )
VRN \ Y/ \ 'l . li/]'-"v\ ’/"ﬂ@&\'“"] \
s O St

“$ /\\ _:‘“

A

@,
__———
IR

£

o

@) Plain Washer 16

TN |
N
I )

€ " \"_‘.!‘\‘_ A \ 'n‘
\ -|(0'/__l‘__\.f‘
i

I

A Don't tighten

A tighten

A Don't tighten

4 tighten




